
Birthday party 
 
 
Listen to a mum talking with her daughter. 
 
While listening, match the first part of the sentences (1-5) with the second part (A-G). 
Write your answers in the boxes. 
There is one part that you do not need. 
The first one (0) is an example. 
You will hear the recording twice. 
You will have 20 seconds at the end of the second recording to complete your answers. 
You now have 20 seconds to look at the task. 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 

A park. 

B 4:30. 

C tomorrow. 

D 5:30. 

E 10th October. 

F T-shirt. 

G Susan. 

0 The party is for  G 

Q1 The date of the party is  

Q2 The party is at the  

Q3 The time of the party is  

Q4 The girl wants to buy a  

Q5 They are buying the present  


